MCQA series

STANDARD CYLINDER mindman

Features
m Non lubrication
Special housing and bushing enables self lubrication of piston rod.
m High quality long service life
Hard anodised aluminium cylinder tubes offer a high resistance to
corrosion and low internal friction.

m Non standard type
Custom cylinders are available as are non standard strokes, rod
extensions and special rod threads.

m Cylinder mountings
Available with comprehensive internationally recognised range of
fixed and flexible mountings.

Specification
Tube I.D. (mm) 40,50,63| 80,100 125 150 200
Table for standard stroke : ,
Medium Air
Tube I.D. Stroke (mm) Max. stroke (mm) Operating perssure range 0.05~1 MPa
240 1800 Proof pressure 1.5 MPa
250,63 50,75.100,125,150. 2000 Ambient temperature -5~+60°C (No freezing)
280,100 175, 200,250,300, 2500 Available speed range 50~500 mm/sec
125,150 | 400.500 2000
g129, Sensor switch RCA (Please refer to page 8-8)
2200 1500 Sensor switch holder | HV2 | Hv4 | PM14 | PM16 | HAS

* Intermediate stroke are available, please contact us.

Order example
MCQA — 11 —40 — 100M — T —0O
T I T T

1: Single rod .
MODEL 2: Double rod TUBE I.LD. STROKE M: Magnet PORT THREAD

Blank: Rc thread

STYLE G: G thread
TYPE NPT: NPT thread

Code Symbol Description
Y Pt T: With magnet, TA/TB is assembled

1(1 %: Double acting / Male thread * Tube, piston rod and tie rod are
extended, and an extra piston is

2|1 ':%: Double rod / Male thread added.
Double rod / Adjustable male thread
2|7 E%E Please mark "adjustable stroke" at order list

* Order example for special specification, refer to page 0-7.

AW mindman



MC QA Order example of accessories

STANDARD CYLINDER mindman
B Accessories & Connector
Accessories &\ g125~200: Factory assembled and shipped (self-assembled is not recommended)
Code o CA cB FA FB FAC FBC
(Purchase 2 pcs)
Mounting
vy | I L = 1 = Imiie (k= L {pe (= [ b=
240 LB-Q1-40 CA-Q1-40 CB-Q1-40 FA-Q1-40 FAC-Q1-40
250 LB-Q1-50 CA-Q1-50 CB-Q1-50 FA-Q1-50 FAC-Q1-50
263 LB-Q1-63 CA-Q1-63 CB-Q1-63 FA-Q1-63 FAC-Q1-63
280 LB-Q1-80 CA-Q1-80 CB-Q1-80 - FAC-Q1-80
2100 LB-Q1-100 CA-Q1-100 CB-Q1-100 - FAC-Q1-100
2125 LB-Q1-125 CA-Q1-125 CB-Q1-125 - FAC-Q1-125
2150 LB-Q1-150 CA-Q1-150 CB-Q1-150 = FAC-Q1-150
2200 LB-Q1-200 CA-Q1-200 CB-Q1-200 - FAC-Q1-200
Accessories A Factory assembled and shipped (self-assembled is not recommended) Connector Rod nut
SDS
Code TA B TC Mid section support Y | NUT
(Stroke over 1000mm)
Mounting
240 TC-Q1-40 SDS-Q1-40 Y-Q1-40 1-Q1-40 NUT-M14x1.5x8Hx22B
250 TC-Q1-50 SDS-Q1-50
263 TC-Q1-63 SDS-Q1-63 Y-Q1-50 1-Q1-50 NUT-M18x1.5x11Hx26B
280 TC-Q1-80 SDS-Q1-80 Y-Q1-80 1-Q1-80 NUT-M22x1.5x13Hx32B
2100 TC-Q1-100 SDS-Q1-100 Y-Q1-100 1-Q1-100 NUT-M26x1.5x14Hx35B
2125 TC-Q1-125 SDS-Q1-125 Y-Q1-125 1-Q1-125
NUT-M 1.5x15Hx41B
2150 TC-Q1-150 SDS-Q1-150 | Y-Q1-150 | 1-Q1-150 | N0 M30x1.5x13Hx
2200 TC-Q1-200 SDS-Q1-200 Y-Q1-200 1-Q1-200 NUT-M45x1.5x27Hx70B
H Pin
Applicable Y&l connector CA&CB accessories M Order example of self-assembled
Code PIN-Y-P PIN-CB-P The tube I.D. 863 of LB accessories, Y connector and pin.
(with split pin) (with split pin) No. Order number Qty
Fig * To order accessories/
E—T= (C—)  Comm— | 1 LB-Q1-63 2 connectors/ pin separately,
— Y-Q1-63 1 please place orders separately
240 PIN-Q1-40-1-P PIN-Q1-50-1-P 1 according to the order codes
250 PIN-Q1-50-1-P PIN-Q1-50-1-P in the above table.
263 PIN-Q1-63-1-P
280 PIN-Q1-80-2-P PIN-Q1-80-1-P
0 DL BT B Order example of factory assembled
3125 PIN-Q1-125-2-P PIN-Q1-125-1-P A\ Cylinders and accessories are distinguished by the symbol " +".
2150 PIN-Q1-125-1-P PIN-Q1-150-1-P MCQA — Standard model no. + TA
2200 PIN-Q1-200-1-P PIN-Q1-200-1-P

M mindman

CYLINDER

ACCESSORIES



MC QA-II Inside structure & Part list

STANDARD CYLINDER

280, 2100

Single rod 11 type

[/

240~263

ik
] — 1

——T

4 ‘% ,,,,,,

2125~2200

>@
o ©®

mindman

Vo patname | weera | oy [operterelaser | ek
1 | Rod packing NBR 1 ([ ] ([ ] [ )

2 | O-ring NBR 2 o [ J [ J

3 | O-ring NBR 2 o [ J [ J

4 | Piston packing NBR or2 [ ) [ ) [ ) 2125~3200 (Q'y=2)
5 |O-ring NBR 1 o [ J [ )

6 | Cushion packing NBR 2 ( ] [ ) [ ) Repair kits 840~@80 (inclusion)
7 | Rod packing NBR 1 [ [

8 |Rod cover Aluminum alloy 1 ( ] ( }

9 |[Head cover Aluminum alloy 1 ([ ] ([ ]

10 | Piston-R Aluminum alloy 1 ()

11 | Piston-H Aluminum alloy 1 [}

12 |Piston Aluminum alloy 1 ([}

13 |Bush Bearing alloy 1 ([ ] ([ ]

14 | Magnet ring Magnet material 1 © (@) © Option

15 | Tie rod nut Carbon steel 8 [} ([}

16 | Tie rod washer Carbon steel 8 ( ) ( }

17 | Rod nut Carbon steel 1 ([ ] [}

18 | Washer Carbon steel 1 (] (]

19 | Needle valve Copper alloy 2 [ ] [ ]

20 | Needle valve washer *1 2 ( ] ([}

21 | Wear ring Resin 1 ([} [}

22 |Bolt Carbon steel 1 () for 40~@63

23 | Piston nut Carbon steel 1 [ ] for 280~2200

24 | Snap ring Carbon steel 2 ( }

25 | Cylinder tube Aluminum alloy 1

26 |Piston rod *2 Carbon steel 1

27 |Tie rod Carbon steel 4

*1. 940~ 100: Spring steel, 8125~3200: Carbon steel
*2. When customized material is bearing steel, only two-side across flat (wrench flat) is available.

M mindman




MCQA-Z* Inside structure & Part list

STANDARD CYLINDER mindman

A: 40~2100

IR

3%

B: 8125~2200

L

No. [ TR B Partname Material | Qy P o oo [ ste) Note
1/ @|@®|@® | @® |Rodpacking NBR 2 ) ) ) o

2 ®@ ®|®|® |O-ring NBR 2 [} () Y o

3 @@/ ®|® | @® O-ring NBR 2 [ J () () [ J

41 @|@®| ® | @ |Piston packing NBR 1or2 (] (] ([ ] [ ) 2125~9200 (Q'y=2)
5 @ @®|® | ® |O-ring NBR 1 (] [ [} o

6 @ @ | ® | @ |Cushion packing NBR 2 [ ) ([ ) ([ ] Repair kits 840~280 (inclusion)
7 [ ) @ | Rod packing NBR 2 ([ ] [ )

8 @ @®| ® | ® |Rod cover Aluminum alloy | 2 [ ) ()

9 1@ [} Piston-R Aluminum alloy | 1 [ J

10| @ [} Piston-H Aluminum alloy | 1 [}

11 [ ) @ | Piston Aluminum alloy | 1 ([ ]

12| @ | ® | @ | ® |Bush Bearing alloy 2 o Y

13|00 | O | ©| O |Magnetring Magnet material | 1 © Option

141 @ | @ | ® | @ |Tie rod nut Carbon steel 8 [} ( ]

15 @ | @® | ® | @ |Tie rod washer Carbon steel 8 [ ] [ ]

16| @ | @® | ® | ® |Rod nut Carbon steel 1 [ ) ()

17| @ | @ | @ | @ |Needle valve Copper alloy 2 [ ] [ ]

18 | @ | @ | @ | @ | Needle valve washer *1 2 [ ) [ )

19 @ |@®|® | ® |Wearring Resin 1 [ ] [ ]

20 @ ®| ® | ® Hexnut Carbon steel 1 [ ) [ )

21 @ | @ | Gasket PU 1

22 @ | @ | Adjustable nut Carbon steel 1

23 [ ) @ | Snap ring Carbon steel 2 ([ ]

241 @ | @ | @ | @ |Cylinder tube Aluminum alloy | 1

25| @ | @ | @ | @ |Piston rod #1 *2 Carbon steel 1

26| @ | @ | @ | @ |Piston rod #2 *2 Carbon steel 1

27| @ ®| ®| @ |Tierod Carbon steel 4

A: 940~2100, B: 125~2200
*1. 240~100: Spring steel, 8125~200: Carbon steel
*2. When customized material is bearing steel, only two-side across flat (wrench flat) is available.

M mindman



MCQA Component part & Repair kits #40~2200
STANDARD CYLINDER mindman

B Order example of component parts

CP—MCQA—2—-40M—[]
l—l—| T TT IT

MODEL  BlankiSinglerod  r;ge | n M Magnet PORT THREAD

2: Double rod
40, 50, 63, Blank: Rc thread
80, 100, 125 G: G thread
150, 200 NPT: NPT thread

B Order example of repair kits

PS—MCQA —2 — 40 — XBé6
— — T T

Blank: Single rod
MODEL 2: Double rod TUBE I.D.
40, 50, 63,

80, 100, 125
150, 200

B Cylinder & accessories weight

Cylinder weight Unit: kg
Model Basic weight Basic weight (magnet) Stroke 25 mm
ode MCQA-11 MCQA-11 MCQA-11
Tube
1.D.
240 0.76 0.772 0.09
250 1.07 1.087 0.12
263 1.46 1.480 0.13
280 2.71 2.737 0.22
2100 3.97 4.005 0.28
2125 6.99 7.033 0.46
2150 10.33 10.410 0.55
2200 19.00 19.144 0.65
Accessories weight Unit: kg
Model | LB CA cB FAIFB | FACIFBC | TATBITC | sDS Y I Pin Rod nut
CA/CB| Y/I

L I s IS | T (0RO = | =
240 0.213 0.297 0.295 0.162 0.482 0.420 0.262 0.200 0.158 0.025]0.043 0.020

250 0.237 0.411 0.407 0.184 0.584 0.455 0.305 0.285 0.222 10.043|0.043| 0.030
263 0.446 0.630 0.650 0.346 1.012 0.815 0.572 0.285 0.222 10.097|0.043 | 0.030

280 0.951 1.192 1.178 — 1.922 1.600 1.112 0.518 0.485 ]0.183|0.134| 0.050
2100 1.212 1.820 1.822 — 2.490 2.380 1.787 0.746 0.670 ]0.308|0.183| 0.060
2125 1.321 3.412 4.059 — 4.224 3.940 3.312 1.680 1.070 [0.372|0.211 0.082
2150 2.638 5.623 5.939 = 6.437 5.300 4.392 1.630 1.730 [0.571]0.372| 0.082
2200 5.083 11.456 11.863 - 13.447 14.720 10.866 3.340 3.010 ]0.988|0.988| 0.501

M mindman



MC QA Accessories

STANDARD CYLINDER

mindman

No. Accessories Material Page No. Accessories Material Page
1 | Mounting accessories LB Carbon steel 1-8,15 10 | Floating joint MFC Carbon steel 8-2
2 | Mounting accessories CA+PIN Castiron/* 1-11,16,19 11 | Female rod ends PHS Carbon steel 8-5
3 | Mounting accessories CB+PIN Castiron/* 1-11,16,19 12 | Fitting PC (PISCO) - 8-3 (Vol.1)
4 | Mounting accessories FA/FB Carbon steel 1-9 13 | Speed controller JSC (PISCO) — 8-15 (Vol.1)
5 | Mounting accessories FAC/FBC Carbon steel 1-10,15 14 | Solenoid valve link seats VR/VH | Aluminum alloy | 1-21
6 | Mounting accessories TA/TB/TC Cast iron 1-12,13,17,18 15 | Solenoid valve MVSC-260/300 — 1-10,1-13 (Vol.1)
7 | Mounting accessories SDS Cast iron 1-13,18 16 | Sensor switch RCA+HV* - 8-8
8 | Accessories Y+PIN Castiron/* 1-19 17 | Protective bellows kit NBR -
9 | Accessories I+PIN Carbon steel 1-19 * PIN material is carbon steel.

M mindman



MC QA Dimensions 240~2100

STANDARD CYLINDER

Z+Stroke

ZB+Stroke

B+Stroke

(@]

AL

mindman

ZN+2xStroke
A ZM+2xStroke A
AL C+Stroke \ B+Stroke _ C AL
-
I
Hog H
E e e é
ZQ+2xStroke+adjust stroke
AA+adjust stroke ZP+2xStroke A
AB+Stroke ‘ B+Stroke _ C AL
AR, AD
||
[

N

AE ‘ AC+adjust stroke
AS

oH

B2

Code

M mindman

_Coe | A |AA|AB|AC|AD| AE |AF|AL|AR|AS|B |B1|B2(B3(C|DD| E |[G|H|1|J|K|L|NB
40 30 |21 |18 | 12 7 [M12x1.25| 30 | 27 7119 (84|14 | 22 7|21 |Rc1/4|M14x15| 16 | 32 | 11 | 3 | 26 |13 8
50 35|23 |18 | 15| 10 [M16x1.5 | 40 | 32 8124 (90|17 | 26 8 | 23 |Rc3/8 | M18x1.5| 20 | 40 | 11| 3 | 28 |14 0
63 35|23 |18 | 15| 10 [M16x1.5 | 40 | 32 8|24 (98|17 | 26 8 | 23 |Rc3/8|M18x1.5| 20 |40 | 11| 3 | 30 [15 0
80 40 | 33 |24 | 20 | 14 |M22x1.5 | 50 | 37 | 13 | 32 [116| 22 | 32 | 11 | 31 [Rc1/2|M22x1.5| 25 | 45 | 15| 4 | 34 |17 0
100 40 | 33|24 |20 | 14 |M22x1.5 | 50 | 37 | 13| 32 [126| 27 | 36 | 13 | 32 [Rc1/2|M26x1.5| 30 | 52 | 15| 5 | 37 |18.5| O
el O | R S |uc|uD| X |z |zB|zm|2N|zP|zQ
40 [405| 8 |M8x1.25 | 4 |12 | 58|138|105|126|186|123|174
50 |48 11 | M8x1.25 4 |12 | 66151113 136|206 (131|189
63 |59 11 | M8x1.25 4 |12 | 80|159(121|144|214 (139|197
80 |74 13 |M12x1.75| 4 | 15 | 100| 191|147 | 178|258 | 171 | 244
100 |90 14 [M12x1.75| 4 | 15 | 118|203 | 158|190 | 270 | 182|255




MC QA Installation of sensor switch 240~2200

STANDARD CYLINDER

B Mounting accessories

E
\OO
D
i : i
%“V ) S— i S—
C
Code .

B0} Sensorswitch | Hold [ A | B | C | D E
40 RCA HV2 | 36 | 41 | 26 | 13 | M4x10L
50 RCA HV2 | 38 | 43 | 26 | 13 | M4x10L
63 RCA HV2 | 46 | 49 | 26 | 13 | M4x10L
80 RCA HV4 | 52 | 55 | 26 | 13 | M4x10L

100 RCA HV4 | 59 | 62 | 26 | 13 | M4x10L

125 RCA PM14| — | — | 26 | 12 | M4x10L

150 RCA PM16| — [ — | 26 | 12 | M4x10L

200 RCA HAS5 | — | — | 26 [ 15 | M4x10L
ZT+Stroke A

LY +Stroke

mindman

o lA| E |FB|LH|LL|LM|LR|LS|LT|LX|LY|ZT
40 30 [M14x15( 9 |40 |27 | 13| 42| 58|3.2| 69(138|132
50 35|M18x15( 9 |45 |27 | 13|50 | 66|3.2| 78(144|140
63 | 35 |M18x1.5[11.5| 50 [ 34 | 16 | 59 | 80| 4.5| 90(166|155
80 | 40 |M22x1.5 (14 | 65 [ 44 | 16 | 76 [100| 6 | 115|204 |191
100 40 [ M26x1.5 |14 75 | 43 [ 17 | 92 | 118 6 134212201

M mindman



MCQA Mounting accessories 240~263

STANDARD CYLINDER

ZF+Stroke

Note. This type is applied to the cylinder which the stroke is within 500mm.
If the stroke is over 500mm, we advise to choose the FAC type.

FU

FF

mindman

7,7,;, i x
: : L
. S -———- -5 E I i
R @ | @ D
4-gFB

e |A| E | F |FB|FD|FF|FR|FT|FU|FX|ZF

40 30 [M14x15| 12 | 9 9| 80|42 |3.2(100( 58 | 99

50 35 |M18x1.5| 12 | 9 11| 90| 50 (3.2 (110 | 66 | 105

63 35 |M18x1.5| 15 (11.5| 8 |105( 59 | 4.5[130| 80 | 116

Note. This type is applied to the cylinder which the stroke is within 500mm.
If the stroke is over 500mm, we advise to choose the FBC type.

ZF+Stroke A

,,,7,L, S S ' 3
e e w)
a1© T 0o £
4-pFB
e | A E C | F |FB|FF|FR|FT|FU|FX|ZF
40 30 |[M14x15 (21 (12 9 |80 |42 |3.2(100( 58 | 117
50 35 |M18x1.5 (23 (12 [ 9 [ 90 | 50 |[3.2 (110 66 [125
63 35 |M18x1.5| 23 | 15 [11.5|105| 59 [ 4.5|130| 80 | 136

M mindman




MCQA Mounting accessories 240~2100

STANDARD CYLINDER

ZF+Stroke

I~imm

-

%

mindman

Code

M mindman

Tweio\ A E F |FB|FD|FF |FR|FU|FX|ZF
40 | 30 ([M14x15| 12 | 9 9|80 (42 100 65 |99
50 [ 35 |M18x1.5( 12| 9 [ 11|90 |50 [110| 73 | 105
63 | 35 |M18x1.5| 15 |11.5| 8 |105| 59 |130| 84 | 116
80 | 40 ([M22x1.5| 18 |14 | 13 |130| 76 | 160|108 | 138

100 | 40 |M26x1.5| 18 |14 | 14 |150| 92 | 180|124 | 149
ZF+Stroke

Code

Soe |A|C| E |F |FB|FF|FR|FU|FX|ZF
40 30| 21 [M14x15 |12 | 9 80| 42 (100 65| 117
50 35| 23 [M18x1.5| 12| 9 90| 50 (110 | 73|125
63 35| 23 [M18x1.5| 15 (11.5|105| 59 [130| 84136
80 40 | 31 |M22x1.5| 18 |14 [130| 76 | 160 108|165
100 40 | 32 |M26%x1.5 | 18 |14 [150| 92 | 180 124|176




MCQA Mounting accessories 240~2100

STANDARD CYLINDER

ZT+Stroke

mindman

e |A| CA |cD|cL[cM[CR| E |O| X |zZT
40 | 30|15 31|10"°| 30 | 18 | 10 |M14x1.5 |40.5| 58135
50 | 3518 31(12"°| 35 | 22 | 12 |M18x1.5 [48 | 66148
63 | 35(25 53[16"°| 40 | 27 | 16 |M18x1.5 (59 | 80161
80 | 40 [31.537 [20"°| 48 | 30 | 20 |M22x1.5 74 [100|195
100 | 40 (35531 [25™°| 58 | 38 | 25 | M26x1.5 [90 | 118|216
s Hi N
© B © |
A RCR :
M-
r ‘ N — N
oCD H
HI | Il B I e ——
~ T
CcB CcM
(CE)* CL
0o ZT+Stroke
[

* Please do not take the sand casting plate as the mounting plate,
because we do not machine it. If you have this special demand, please
contact our sales representative.

o | A| CB |CD|CE|CL[CM|CR| E |O]|X|zT
40 | 30|15 133[10"°[29.5( 30 | 18 | 10 | M14x1.5 |40.5| 58 |135
50 | 35 (18 133|12""°|38 | 35 | 22 | 12 |M18x1.5 (48 | 66148
63 | 35(25 153[16"°|49 |40 | 27 | 16 |M18x1.5 |59 | 80 |161
80 | 40 [31.5333[20"°(59 | 48 | 30 | 20 | M22x1.5 [74 |100|195
100 | 40 [35.5:33|25"°|64 | 58 | 38 | 25 | M26x1.5 [90 |118|216

M mindman




MCQA Mounting accessories 240~2100

STANDARD CYLINDER

mindman

M mindman

E
[a]
| _ - X SE I
N
TJ+1/2xStroke ‘ TF+1/2xStroke L
I
ZB+Stroke A
TU
e |A| E |TD|TF|TJ|TK|TL|TT|TU|TX|ZB
40 30 |M14x1.5 [15%®| 63 | 42 | 22 | 16 | 85|117| 58105
50 35 |M18x1.5 [15%®| 68 | 45 | 22 | 16 | 95|127| 67| 113
63 35 |M18x1.5 |18 72 | 49 | 28 | 19 [ 110|148 | 82121
80 40 [M22x1.5 |25%| 89 | 58 | 34 | 26 | 140|192 102|147
100 40 | M26x1.5 [25%°| 95 | 63 | 40 | 26 | 162|214 122|158
E
[a]
[ _ - |>_< 'E | |
i A R |
TJ+Stroke ‘ TF
T
ZB+Strok A T T Tt
TU
Code A E ™! TF Without magnet| ~ Magnet | Tl Tl T
Tube L. TJ|zB|TJ[ZB
40 30 |M14x1.5 |15®®| 60 | 45 [ 105| 75|135| 22 | 16 | 85| 117 | 58
50 35 |M18x1.5 | 15| 64 | 49 [ 113 | 79|143| 22 | 16 | 95|127| 67
63 35 |M18x1.5 [18%| 69 | 52 | 121 | 82|151| 28 | 19 [110|148| 82
80 40 | M22x1.5 [25%°| 85 | 62 | 147 | 102|187 | 34 | 26 | 140|192 102
100 40 [M26x1.5 |25%| 92 | 66 | 158 [106|198| 40 | 26 | 162|214 |122



MCQA Mounting accessories 240~2100

STANDARD CYLINDER

mindman

TL

E
L | x| 8l
- 'gI
A+ _r 1
TJ ‘ TF+Stroke
‘ ZB+Stroke A
Code A E ™ Without magnet| ~ Magnet Tkl Tl T lTu l T
Tube 1D, TF [zB [ TF [zB
40 30 |M14x1.5 [15°®®| 66 | 105 | 96 |135| 39 | 22 | 16 | 85| 117 | 58
50 35 |M18x1.5 [15°®| 72 | 113 (102|143 | 41 | 22 | 16 | 95|127| 67
63 35 |M18x1.5 |18%| 75 [ 121 [105|151| 46 | 28 | 19 [ 110|148 | 82
80 40 | M22x1.5 [25%| 93 | 147 (133|187 | 54 | 34 | 26 | 140|192 102
100 40 [M26x1.5 |25%| 98 | 158 [138 198 | 60 | 40 | 26 | 162|214 |122
m Stroke over 1000mm
E
i E— (Y A R———
TJ+1/2xStroke ‘ TF+1/2xStroke oTx
I
ZB+Stroke A (TY)
Code
e\ A E TF | TJ | TK| TX | TY | ZB
40 30 [M14x15 | 63 | 42 | 22 | 58| 60105
50 35 |M18x15 |68 | 45 | 22 | 67| 69113
63 35 |M18x15 (72 | 49 | 28 | 82| 84 (121
80 40 [M22x1.5 | 89 | 58 | 34 [ 102|110 | 147
100 40 [M26x1.5 | 95 | 63 | 40 [ 122132158

M mindman




MCQA Dimensions ©125~2200
STANDARD CYLINDER mindman
Z+Stroke
J ZB+Stroke A
B+Stroke C AL
ox K K |
00 KA KA
v LS Llv | |3
= = |
E T | ,B. B2 ‘
T {QV { 7,73t@%,%-gi,%o T
S =) al®
A i
* @ iy
E
- R B1
2-DD 2x4-S
coke | A|AL| B |B1|B2|B3|C|DD| E |G|H|I|J|K|KA|[L|O|R| s |uUu|Vv|Xx|z|zB
125 45 | 42 |136| 30 | 41 | 9.5| 47 |Rc1/2| M30x1.5| 35 | 58 | 32 | 10 (32 20 (17 |17 | 15 [ M14x15| 11 | 20 [ 150|238 183
150 50 | 47 (153 36 | 41 (10 47 |Rc1/2| M30x1.5| 40 | 60 | 32 8 [40.5| 25 |24.5|134 | 15 | M16x1.5| 12 | 26 | 175|258 | 200
200 63 | 60 (154 | 46 | 70 (20 67 |Rc3/4| M45x1.5| 50 | 74 | 35 8 |42 25 (24 182 27 | M20x1.5| 12 | 18 [226|292 | 221
ZN+2xStroke
m A 2 2xStroke A
AL C+Stroke B+Stroke C AL
| |
Ari, AH&
o— O, B (]
A T <> © | 1
‘ I
E E
Code
e | A|AL| B | C E 1 |V |zm|2N
125 45| 42 (136 47 [M30x1.5 | 32 | 20 | 230|320
150 50 | 47 | 153 | 47 | M30x1.5 | 32 | 26 | 247 | 347
200 63 | 60 (154 | 67 [M45x1.5 | 35 | 18 (288414
ZQ+2xStroke+adjust stroke
AA+adjust stroke ZP+2xStroke A
AB+Stroke B+Stroke C AL
| |
a#f a%f
‘ AD - [ S—
— 1]
. © &
T e o 16 S
E ‘AC+ad'ust stroke E
oo | A |AA|AB|AC|AD|AF|AL|B | C E 1|V |zmMm|2N|2zP|zQ
125 45| 38 | 47 | 30 | 18 | 60 | 42 |136| 47 [ M30%x1.5 | 32 | 20 |230|320|230|313
150 50| 38 |47 | 30 | 18 | 60 | 47 [153 | 47 | M30x1.5 | 32 | 26 |247 |347 |247 | 335
200 6338|5030 (18|70 |60 [154| 67 |M45x1.5 | 35 | 18 (288 (414 271|372

M mindman




MCQA Mounting accessories ©125~2200

STANDARD CYLINDER

M mindman

mindman

i

ZT+Stroke A
| ~C |
O —
o Bt ©
—
g!! i/ /—) T E ‘
i f iy —
@ L.l OF e
h B ———— *,,,,4:,,,,,,,7.—'
1 il T ]
LR | LM LL LL LM
LS 4-0FB ‘ LY +Stroke 4‘
coke |A| E |FB|LH|LL|LM|LR|LS|LT|LX|LY|ZT
125 45 | M30x1.5 | 16 |85 48 | 17 | 117 (150| 6 |162 (232|231
150 50 | M30x1.5 [ 18 |96.5| 55 | 20 [ 134 |175| 9 [184|263 |255
200 63 | M45x1.5 [ 24 {132 | 60 | 30 [ 150|226 | 10 245|274 |281
ZF+Stroke )
F |FD A
J ‘ﬁH
%* ——— 4-FB
) /e
Cole |A| E | F|FB|FD|FF|FR|FU|FX|J |V |ZF
125 | 45 |m30x1.5| 20 | 18 | 27 [ 183 123] 222|155 10 | 20 [ 166
150 50 | M30x%1.5 [ 20 | 18 | 27 | 230|134 |275|185| 8 | 26 | 181
200 63 | M45x1.5 | 25 | 24 | 42 |280(150|335|225| 8 | 11 [187
) ZF+Stroke A
}.E“ C
4-9FB & ——————
Slw 4 @;,7,7,%@%%,
"I 1O ©.
j .
Code
Coe |A|C| E |F |FB|FF|FR|FU|FX|ZF
125 45| 47 [M30%x1.5 | 20 | 18 [ 183|123 |222| 155|203
150 50 | 47 | M30x1.5| 20 | 18 | 230134 | 275|185 | 220
200 | 63 | 67 |M45x1.5 | 25 | 24 | 280150 | 335225 | 246




MCQA Mounting accessories ©125~2200

STANDARD CYLINDER

mindman

(0 ||| o) ‘
| 0
I RCR H
1
D %,7,,7,7,, ~ S _
| oCD 1
! | |
o ||i|| © \; ——F
N | _ =
CA CcM
0o cL |V
ox ZT+Stroke
o | A|CA|CD|CL|CM|[CR| E |O|X |zT|V
125 | 45 (4351 |25"°| 65 | 45 |24 [M30x1.5 | 117 [ 150 [ 248 | 20
150 | 50 [40 31 |30"°| 78 | 53 [27.5|M30x1.5 | 134 [ 175|278 | 26
200 | 63 (5033 |40""| 85 | 55 |40 |M45x1.5|182|226 (306 | 12
|
e ‘ )
© | 6]
|
7Y |y "CR
..... ‘
_____ T
A | A oCD
|
ol | ||e
L | J
cB CcM
N cL
(CE) ZT+Stroke A
0o
Oox

* Please do not take the sand casting plate as the mounting plate, because

we do not machine it. If you have this special demand, please contact

our sales representative.

e |A| CB|CD|CE|CL|CM|CR| E |O|X |zT|V
125 | 45|43 133|25""°| 83| 70 | 48 [24 |M30x1.5 [ 117 [ 150|253 20
150 | 50 |40393[30™°| 90 | 78 | 53 |27.5| M30x1.5 (134 | 175|278 | 26
200 | 63|50 10%|40™°|100 | 85 | 55 |40 |M45x1.5 [ 182 226|306 12

M mindman



MCQA Mounting accessories ©125~2200
STANDARD CYLINDER mindman

TJ+1/2xStroke TF+1/2xStroke
Vv ZB+Stroke A

TL T TL

Cole |A| E |TD| TF |TJ|TK|TL|TS|TT|TU|TX|V |ZB
125 45 [ M30x1.5 | 32®° |115 |68 40 | 40 | 164 (176|256 | 172 (17 |183
150 50 | M30x1.5 | 35%° | 123.5 [76.5| 41 | 40 [ 194 [200|280|198 |16 |200
200 63 | M45x1.5 | 45% | 144 |77 59 | 45 | 255|265 (355|255| 8.5(221

TJ+Stroke
‘V ZB+Stroke
Code A E ™! TF Without magnet; Magnet It lTs |1 lTul ™| v
Tube 1.D. TJ|ZB| TJ |ZB

125 | 45 |[M30x1.5 [32°°(100 |83 |[183 (129 |[229| 40 | 40 [164|176|256|172|17
150 | 50 [M30x1.5|35%°(109 |91 |[200|137 |[246| 41 | 40 | 194 (200|280 |198 |16
200 | 63 |M45x1.5 [45°|139.5|81.5|221 [125.5|265| 59 | 45 |255|265|355|255| 8.5

M mindman



MCQA Mounting accessories ©125~2200
STANDARD CYLINDER mindman

TX
oTD
N

TJ TF+Stroke
TL
\Y, ZB+Stroke A
T TU
Code A E ™ Without magnet Magnet ikl s |11 lTu lTX | V
Tube 1.D. TF |ZB| TF |ZB

125 | 45 |M30x1.5|32°°|130 | 183 (176 |229(53 | 40 | 40 | 164|176 |256 [172|17
150 | 50 [ M30x1.5|35°®|138 | 200 (184 |246(62 | 41 | 40 | 194|200 |280 198 |16
200 | 63 |M45x1.5 [45%|148.5 | 221 [192.5 |265|72.5| 59 | 45 | 255|265 |355(255| 8.5

m Stroke over 1000mm

TS

TJ+1/2xStroke TF+1/2xStroke
\ ZB+Stroke A

e JA| E TF | TJ|TK|TS|TX|TY |V |ZB
125 45 | M30x1.5 (115 |68 40 | 164|172 (174 |17 | 183
150 50 | M30%1.5 [123.5 |76.5| 41 | 194|198 (200 |16 |200
200 63 | M45x1.5 (144 |77 59 [255|255|263 | 8.5|221

M mindman



MCQA Accessories 240~2200

STANDARD CYLINDER

Y connector

I connector

mindman

M M
‘ L ‘ L
* |
o S I - i
H
2x c KK H
4‘ Aﬁ 28 c KK
T il
L i Z ‘ M
PR ‘ |
5 m o o 7—71—77—74?7*—7—«
n ‘ L J
- \
* Please do not take the sand casting plate as the mounting plate,
because we do not machine it. If you have this special demand, please
contact our sales representative.
Code B C CH D G H KK L M XH10
Tube ID.\[ Y Y | | Y | Y| 1T Y [T ]|]Y][I Y | | Y | | Y |
40 [16333(1633 |25 | 20 | 38| — | 26 | — |@24|@24| 25 | 25 | M14x1.5| 55| 55| 68 | 68 |@12 ‘37
50
% 16133(1631| 27 | 22 | 38| — | 30 | — |28 (@28 | 27 | 27 [ M18x1.5| 60| 60| 75 | 75 |[@12 0"
80 (28133283132 (27| 55| — | 38| — |236|236| 32 | 32 | M22x1.5| 71| 71| 90 | 90 |[@18 5%
100 [30333(303% |35 |30 | 59| — |42 | — |040|@40| 38 | 38 | M26x1.5| 83| 83|104 (104 |@20 *3%
125 3219313250135 |40 | 76| — | 58 | — [@45|@50| 38 | 32 | M30x1.5| 80| 80(109 (109 [@20 *3%
150 4033314051 |35 |40 | 84| — | 54 | — [@45|260| 39 | 32 | M30x1.5| 80| 80(107 (107 [@25 *3%
200 (50:33(503% | 67 | 67 |100| — | 85 | — |@70|a70| 54 | 44 | M45x1.5 |125|125|167.5 | 167.5 | 240 *3"
2-F
n 2_0E
P —
C B C
A
for Y & | connector for CA&CB
C A Ci A A
| A|B|C| D® | E|F |splitpin Coke |A|B|C| D® | E|F |splitpin
40 | 57| 46|55 |0125%]3.5(1.0| 3.2x20L 40 | 48| 37(55|0103%[3.5| 1.0 3.2x20L
50 | 57| 46|5.5|8125%5(3.5(1.0| 3.2x20L 50 | 57| 46|55 |@e125%(3.5(1.0| 3.2x20L
63 | 57| 46|55 |8125%5(3.5(1.0| 3.2x20L 63 | 72| 58|7 |e165%|4 |1.2| 4x25L
80 | 78| 64|7 |21830%|4 |1.2| 4x25L 80 | 87| 70|85 |2205%|5 |1.5|5%35L
100 | 87| 70(8.5|2203%5|5 | 1.5 5x35L 100 | 93| 76|85 |@253%|5 | 1.5 5x35L
125 |100| 83|8.5|@203%|5 |[1.5]| 5%x35L 125 |112| 95(8.5|@253%|5 |[1.5]| 5%x35L
150 |112| 95|8.5|2253%|5 |2.0] 5%35L 150 |119|102(8.5|@303%|5 |[2.0 ] 5%40L
200 |115(105(5 |[@403%|5 |2.0 | 5x55L 200 [115]105|5 |[@403%|5 |2.0 | 5x55L

M mindman




MCQA Solenoid valve link seats 240~2100
STANDARD CYLINDER mindman

Order example

MCQA — |As standard order example| — VR—4E2C—AC110

T — T —

SOLENOID VALVE E1: Single solenoid VOLTAGE
"4 LINK SEATS 4 way (5 port E2: Double solenoid AC220V/(50/60)Hz
v | AC110V/(50/60)Hz

VH C: Closed center DC24V

P: Pressure center
*1. MCQA-240~263 (for MVSC-260 valve) ig=xhaust center

Only for 4E2
*2. MCQA-280, 2100 (for MVSC-300 valve) (Oniyfer =2
‘ L2 (L3)* ‘ *
‘ L2 (L3) ‘
‘ VJ l vJ }
- = I— --
[ ] rr
e . B
J— imi} 0] [L**#rh imi) =
i =i e = =t~ i i —0 - He—
i
il ow\ro | wa*ﬁL_ OWYO
M2* *
M1 M M1
VL | VI WK
= VL &%
T oo T
o LIRSS U o L1 {88
[ = ‘ >| el e =
S L1 ) L1 -
= >

Tuic;de_ L1|(L2|(L3|M1|M2|VB| VC |[VD|VE|VF |VG| VI |[VJ| VK | VL | Valve type
40 |77.5(199220(31.5(99.5| 9.5|104.2| 79|46.2| 21 76| 37 | 131 |Rc1/4|Rc1/8| MVSC-260
50 (78.5/199|220(31.5|99.5| 8.5(112.2 | 87 (46.2| 21 80| 37 | 131 |Rc1/4|Rc1/8| MVSC-260
63 |[79.5/199|220(31.5|99.5| 7.5(126.2|101 [46.2| 21 87| 37 | 131 |Rc1/4|Rc1/8| MVSC-260
80 ([80.5/222|275(45 |111 |14.5(159 |128(59 | 28 | 90| 52 | 156 | Rc3/8 |Rc3/8| MVSC-300

100 |78.5(222|275|45 (111 [12.5|179 |[146|59 | 28 |104 | 52 | 156 |Rc3/8 |Rc3/8| MVSC-300

* L2 for 4E2 size, L3 for 4E2C.P.R size, M2 for 4E2 and 4E2C.P.R size.

M mindman



	1_Specification
	2_Order example of accessories
	3_Inside structure & parts list
	4_Inside structure & parts list
	5_Component parts& repair kits
	6_Accessories
	7_Dimesion  ø40~ø100
	8_Mounting accessories
	9_Mounting accessories
	10_Mounting accessories
	11_Mounting accessories
	12_Mounting accessories
	13_Mounting accessories
	14_Dimesion  ø125~ø200
	15_Mounting accessories 
	16_Mounting accessories 
	17_Mounting accessories 
	18_Mounting accessories 
	19_Accessories
	20_Solendoid valve link seats

